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He wrote it and placed it, etc. — 9912 77OMANY 79AND

OVERVIEW

X127 asked X217 regarding a vx which the husband wrote (and dated it, etc.), and
then placed it in his pocket, pending the outcome of his relationship with his wife;
whether this is a 7w v3 or not, to be given at a later date; are we concerned for
"5°11 or not.' X171 answered that there is no concern since a person is not 2°7pn
7wo1? Xnuyo. Our Moo explains why we could not use a former explanation to
resolve this question.

MooIN anticipates a question:
— MNPY MINNRT YD YA XY NIN

Here (regarding 7°mIX1 7°2n3), the X3 did not want to answer that the 7 will

be effective for ‘the past’ -
—Znaw wN ana 237 999 1399819

As the X773 stated previously regarding if he only wrote the month or the week
without specifying the exact date —

mooin explains the difference between the cases; regarding n2w w7r an> -
— 111393 5711 95 NININ NANINY 1MONT 1IPYN RY NP 1INNT 11

Since it is effective for the past we are not concerned for a ‘cover up’, for the

writing and giving of the v» were simultaneous -
— 29595 1359IN 79 NOY) N2 I

As we are not concerned for M9 during the day itself, as the X711 stated

previously -
— 2NN 9NN NN NIPNNY DN NN PNAN PV NIND HININY AN ’a) VAN

However, regarding the case of 730952 57°miRY an> and similarly regarding J3woa

! See following 7maxY 7"7 X, '01n, that there is no concern of M0 regarding 7°nIXY 7°203.
% The &3 previously ruled that if the date merely consisted of the month or the week without specifying which date
in the month or week, nevertheless it is 7w2; for even though it may not be effective to deter the concern of M19°1
during this month (week) nevertheless it is effective for the previous month (week); we are certain that she was
divorced during this month (week). We know that if she was 7711 before this month, she is 7in°n 2. It is partially
effective and that is sufficient. The question is why do we not say that 13 7°mIRY 7°2n2 is w2 for it will be effective
for the time before the date of the 172°n2; if she was 711 before that date she will be n°a 2. This should render it
a w> v3, even though it will not be effective for the time between the 711°n11 72°Nn2, just as NAWY W77 2N is a WD W3,
even though it is only partially effective.
? The X3 argued that even a va which is dated properly is not completely effective to prevent »12°1 for it is possible
she was m1m early on this day and the v was written later in the day on the same date. This proves that a partial
effectiveness is sufficient.
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which arrive from overseas, where the giving of the 01 is after the writing of the

v), in those cases -
—mwaam 195 ONPNY IPY 9NN NN NAY 132U1N

We are concerned that perhaps he will ‘cover up’ and state a falsehood that
she was divorced previously (before the actual 7n3, but rather closer to the 72°n377 2v) -

119099 93NNT 23 YY GN 91D NP5 DNNYY B AN *)9
And that it also why %92 anni 212 an21 is 9105, even though it is effective for
the past, but since the 7°n1 is after the 72°n377 o1, therefore it too is 7109.

SUMMARY
The explanation of »p% °1nX is applicable only to a case where the 7712°n> and 72°n3
were at the same time.

THINKING IT OVER
1. Why was it necessary for mo1n to mention at the end 191 212 2031 19%;° we were
not discussing that case? What does that add to the discussion?’

2. How can n»on compare the case of 779°22 annay o2 2021 to 7MY 7°2n0d; by
7rIRY 77202 the o7y signed properly on the day it was written, however by 2n32
7222 onn1 o2 the 07y signed falsely, for it was the next day already?!®

* See 7"po 1P "0 XM M1aR who explains the difference that by naw w7n and, there are no lies in the v3 (she was
divorced during this month), so even though the woman may well be freed from execution by claiming she was
divorced in the beginning of the month (when indeed she was divorced at the end of the month), nevertheless the 03
is not 7109, since no v can pinpoint the moment of divorce, therefore since it is np% >3 it is W2, However when
the 712°n> precedes the 7»°nn the woman is exempt from 7in°» because of the falsehood that is inherent in the 0w (the
date of the "vw is patently false, for she was divorced much later), therefore such a 2w which perpetrates a lie is not
qw3 even though it is 77°np% *1n.
> See ‘Thinking it over’” # 1 & 2.
® See footnote # 5.
7 A reminder: 7°mIX1 7°an3 is 7w while 131 212 2021 is a 9109 va.
8 See 19p *"o10 7"O0.

2

TosfosInEnglish.com



